log (L*) IECSRGB lightness
log(L*) L*

IECsRGB lightness for all colours L*\y,=100:
L* iecsros = 100 YY) % (¥,=100,Y > 1/255)

application
range
Y,=18

log AY IECSRGB-tristimulus
log(AY) AY value difference

124
L*|ecsrap = 100 {/Yy)

IECsRGB-tristimulus value difference
log(dY)=log( 2,4 {,/100) ) + (1-(1/2,4)) lo/Yy,)
= log(2,4%,">9/100) + (1~(1/2,4)) log()

' Y,718 dY,=0,90 dY,/Y,=0,0480 _ »
r - = -

10g(dY)=0,88 m,=0,58 L+® v application
, range

1Y, =18 '

IECSRGB-tristimulus
value sensitivity

log (AY/Y)
log(C;) C,=(AYlY)
L* iecsros = 100 /Yy >4
IECSRGB-tristimulus value sensitivity
log[(dY/Y = log(2,4t"*)/100) - (1/2,4) log()

application
a0 range

IECSRGB-tristimulus
value contrast

log (Y/AY)
log(S) | S=(Y/AY)

L*|Ecsra = 100 {/Yy)
|IECsRGB-tristimulus value contrast

1og(Y/dY)= log[(1/2.4) (100¥,)] + (1/2,4) log¥/Y,)

= log[(1/2,4) 100X, 2>] + (1/2,4) logt)

12,4

! L*,=50,Y,=18 dY,=0,90 Y,/dY,=20, » *
.

1 log(V/dY)=13Q m=041 _ .=

1

- * . =
application
range

=18

log (L*/L* ;) relative IECSRGB lightness
LA
relative normalized IECSRGB data

IECSRGB lightness for all colours L*,=100:
L* lecsres = 100 YY) "2 (¥,=100, Y > 1/255)

'L* 4=50, Y,=18
-
. application
) range
1Y, =18 ()¢

-

Yy=4
1

log(AY/AY,) relative IECSRGB-tristimulus value dif

INTNA

12,4
L*|ecsrap = 100 {Y/Yy)

relative IECSRGB-tristimulus value difference
log(dY)=log( 2,4 ,/100) ) + (1-(1/2,4)) lod(/Yy)
= log (2,4, 2)/100) + (1-(1/2,4)) log()

! Y,=18 dY,=0,90 dY,/Y,=0,0480
-

application
range
1Y,=18 110

> 1
>
Yy=4
1

log [(AY/Y) I AY /Y] relative IECSRGB-tristi—
C,/C,=(AYM)/(AY/Y,) mulus value sensitivity

124
L*|ecsrap = 100 {/Yp)

relative IECSRGB-tristimulus value sensitivity
log(@Y/M/(dY,IYy)] = log(Yry,) H24

application
range
L
1 Togl@YYY(@Y,/¥,)]=0, m=—0.41 et .
Y,=18, dY,=0,90 dY,/Y,=0,0480 '

Yn=4 oy, =180
1

log [(Y/AY) I (Y /AY,)] relative IECSRGB-tristi—
log(S) S/Siu=(Y/AY)/(Y,/AY,) mulus value contrast

124
L*|ecsrap = 100 {/Yn)

relative IECSRGB-tristimulus value contrast
10g[(Y/AY)/(Y/AY,)] = log(Y/Y,)Y24
L* =50, Y,=18, dY,=0,90

L* =50, Y,=18, dY,=0,9Q Y,/dY =20
log[(Y/dY)(Y,/dY,)]=0, m,=0.41

.
application
range
Y,=18




